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er Code
Number: 2191 -1 INTERMEDIATE PART-1(11" CLASS)
MATHEMATICS PAPER-I GROUP-I = . TIME ALLOW'E.D: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you

think is correet, fill that bubble in front B that question number. Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt a3 many questions a3
given in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES
are not filled, Do not solve questions on this sheet of OBJECTIVE PATER.

Q.Na.l

Q) If (=1, then " =

(A) 1 (B) -1 Q) i () =i
(2)  The symbol used 10 denotc a biconditional betwesn two propasitions is:

(A) — B) ~ (C) «— (D) v
(&) For a non singular matrix 4, if AX =8, then X =

(A) 4B (B) BA™ (C) (4B)" ) (BA)"
1 =2 3]
@ I A:\ o 0 1], then M, = @B ®o ©1 O7
L4 = 2
(5)  The number of roats of polynomial 8x* - 19x* =27 =0 are: Arz B4 ©6 M4

(6) I s=sum of roots and p = product of roots, then quadratic equation <an be written as:

(Ayx* +sx+p=0 @) x* ~sx-p=0 ) x*-sx+p=0 (D) sx* — 3% Pl

b

(N s 5 — is a fraction: (A) Proper  (B) Improper (C) 1dentity (D) Ireational

(x=-3N(z+D)
(8) I a,=(=1)""". then a, = {(A) | (B) -1 () i Dy ~i
(9)  Geometric Mean between 4 and 161 is: (A) 8 B)-8oCyEty (D) 8
(10)  The factorial form of n{n - 1) n=-2)-==(m=r+l) is:

mn! Y n!
(A) T (B (n-1 () n! (D) R

(1) ‘:V'hcn A and B are two disjoint events, then P{AU=

(A) P(A) = P(B) (3) P(A) + P(B)= B(AYBY (C) P(A) - PeANE) (D) PlA)+ P(B)
{12) The statement 4% > 3" + 4 is true if: {;.f-\.] nel2 (Byn=2 (Cynz2 Dyns2
(13)  Inthe expansion of (3 - 2x )* £ 5" term will be its:

(A) Last term (B)2™ Yast term (C) 3" fast term (D) Middle term
(14)  The measure of angle between hands of a watch a1 3 0'clock is:  (A) 10° (B) 60" (C) 90° (D) 120°
(15)  The angle %‘- R Rqadan: (A1 @D ©W@ O
(16) Rang€ ofthe funelion y = cosx is:

(A) B <x<® (B) —co < y<® (C)~1sysl ) -1sxsi
(17} Ina AABC with usual notation ," s vl (A) sins  (B) e A cmsE (D) s‘mg
be 2 2 2 2

(18) Areaof AABC interms of measure of its all sides is:

(A) é—bcsina @) 8nes8 oy Loasing (D) s(s = a) (s ~b)(s-0)
2siny 2
(19)  Tan{fan™(-1) )= w-1 ®1 ©2 (D) =1
(20) Solutionset of sinx == is: '
A lf‘i‘.‘cﬁ} B {E sn | {i_fﬁ}.
w{EZ) @{%%] O3 @) {0.7]
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/ 2019 (A) Roll No:

“INTERMEDIATE PART-I (11" CLASS) MTN-TT— 1 ’

MATHEMATICS PAPER-I GROUFP-I TIME ALLOWED: 2.30 Hours
_SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number on answer book,
as given in the question paper. @) [ ?—-’f
SECTION-I
. Attempt any eight parts. 8x2=16

(i) Express {2 + VCE)L:* + J—_B] in the form of a +bi and simplify.
(i)  Find the multiplicative inverse of (-4, 7)

Gii) Factorize 9a’ + 166

(iv)  Define union of two sets and give an examnple.

v If A and B a:eanytwoseisthmpmvc (AUBY = 4'NE

(vi)  Define tautology and absurdity.

(vii) If 4 dnd B arenon singular matrices then prove (4B = B~'4™

-2 13
(vili} Find the inverse of mattix A =[ i 5]

0 2-3i
(ix) I 4 =[ il 0 I] then show that A is skew-hermitian.

(x}  Solvethe equation x""E - x% ~-6=0

(xi)  Using factor theorem show that (x — 1) is a factor of x! +4x-5

(xit) The sumofa positive number and its reciprocal is % . Find thesnumber:

-

3 Attempt any eight parts. g8x2=16
(i) Define “Proper Rational Fraction”,
- xt +1 ; ; .
@y Reiblve —=——==—us into Partial Fractions:
(x+1(x=1)
(i)  For the identity xdl A o B + € Calculate the value of 8.

(r-lj(x+23{x+3)=xnl r+2 x+3
(iv)  Find the next two terms ofthe seguence: 1, 3,7, 15, 31,
(v)  1f the nth term of He& Plis 391, findits first three terms.

; kS
{viy  Find the ! 1™ e of the geometric sequence: 1+, 2, 5 -———
+

(vii) Hsert two G Ms. between 1 and 8.

{viiy Find the 12" term of the harmonic sequence: IE' % -16-, —_———
(ix)  Find the value of n when LS - 2
{x) Prove the formula for » =1 and n=2: 1 ‘P4+?+———+(3n—2]=i(-§”2———11

(xi)  Calculate (0.97) by using binomial theorem.
(xii) Expand upto 4 terms: (2 - 3x)7 taking the values of x such that expansion is valid.
P.T.0.



(2)
4, Attempt #hy nine parts. 9xI=18

(i) Find @, if £=1.5cm, r = 25cm

: : 1 3
i Prove 2sind3" + —cosecd’” =
(ii) 5 45 n

@iii) Prove (tan® + cotd)® = sec? Pcosec’d
tan ¢ +t,an,!5’= sin{a + )

i P
i) rove tang — tan )  sin{a - §)
oo
(v) Prove m = secd -
2 2

(vi} Prove sm(% - H}Sin[% + G]ﬂ %mze

(vii) Find the period of cos2x.
(viii) Find the areaof a A4BC, if b=37, ¢ =45, a =30°50'

(ix) Prove R= poo

(x) Prove rrnr = A o

(xi) Prove cos(Sin"x) = Jl - x? )

{xii} Find the solution of secx =~2 which lie in [0 Efrl
(xiii) Find the values of @ satisfying the equation 2siné + m

SECTION-11
NOTE: - Attempt any three qumhons - x 10=30
S(a) Showthattheset {I,w,w®} when w' =L B\Eﬁp w.rt, ordinary multiplication. 5
- (b) Find n so that f b}_ ~ may be A.} and b. 5
6.(a) Find the inverse of the matrix A = by using column operation. 5
'2 -2
(b) Adieis Lhmwn twme probability that the sum of dots shown is 3 or I1. 5
7.{a) Find the condi i i
opposite 5
1 1 3 1.3.5
e =y 2 . 5
(b) ? eorem 1o prove that 1 + — 7y + 48 T 2 ;
8(a) If = E and the terminal arm of the angle is in the T quadrant, then find the value of 5
3sinf + 4cos@
cos@ - sind
(b} Find the value of sin18° without using table or calculator. Hint: 50 =26 + 3¢ = 90° 5
I 1 L
i th _—— o — 4 — 5
N B oot T
(b) Provethat Tan™ A + Tan™ = § Tan"l + Ta.auv:"l 5
11 6 3 2
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